1. Simplify: [-18 - 3| - |12 + 20|

(-2l - )32|
21 — 32
21+ -32

1]

2. Amy pays .@ or an AC technician to come to
her house an -@ ver hour/that the technician
works. What[expression]represents the fotall cost}

for the technician's visit?

X= # of hoorsg

[2o%55)

3. Find the quotient: 261.45

22 s
71|



16 125 512

Perfect Squares

1331 o 81
Perfect Cubes
64 36 4

27



Perfect Squares

?= 1 62=36 11?= 121 16* =256
22=4 7%= 49 12°= 144 17° =289
32=9 8=64 13°= 169 18° =324
42=16 92= 81 14*= 196 19° = 361

52= 25 10%= 100 15%= 225 20%=400



Square Roots

The inverse of squaring a number

OPFOSH 1 _u
Examples: e L= P'gi
5 L))
minos

-5 J100=t/0
=355 7

=l Jieo/)



Perfect Cubes

6> = 216 11° = 1331

7°= 343 12°= 1728
8= 512 13° = 2197
93= 729 14°= 2744

103 = 1000 153 = 3375



Cube Roots

The inverse of cubing a number

—
343=-"/ J8=2
5-5 Je- "1
27 =4 $iooo = |V




i ith r
* Use "+" for positive or negative

SOLVE:

[x*4144 (=324  [x*=225
=+ 12 X=l7 K=t 15

X=41y X=11 X.:i'lo









